
SAP ABAP table SCEVARVAL {Values in Variant Tables}

SCEVARVAL

MANDT [CLNT (3)]

KBID [NUMC (6)]

OBJID [NUMC (6)]

CHARID [NUMC (6)]

ROWNUMBER [NUMC (5)]

SYMBOLID [NUMC (6)]

SCECHARAC

MANDT [CLNT (3)]

KBID [NUMC (6)]

CHARID [NUMC (6)]

 SCEVARVAL-CHARID = SCECHARAC-CHARID 
0..N

{0,1}
SCEOCLASS

MANDT [CLNT (3)]

KBID [NUMC (6)]

OBJID [NUMC (6)]

 SCEVARVAL-KBID = SCEOCLASS-KBID 
0..N

{0,1}  SCEVARVAL-MANDT = SCEOCLASS-MANDT 
0..N{0,1}  SCEVARVAL-OBJID = SCEOCLASS-OBJID 
0..N{0,1}

SCEVALSYM

MANDT [CLNT (3)]

KBID [NUMC (6)]

SYMBOLID [NUMC (6)]

 SCEVARVAL-SYMBOLID = SCEVALSYM-SYMBOLID 

0..N

{0,1}


